2
15

@1.52 ®0 @3.14 ®

O -2




ol
S
A

14
23 %7

5
3
@

15
22 %x 13

Broele]ef;

=
—

ZlobEs 2 b o) £8.0] 49147} 2 &




3_5
— | O
D~
~ X
5“5
[e0]
= | X X
N )
[ap] N

©)
®

4
22x3x%x5




ot xgkol

5

ol

J
5

<
il

@ 6 ©) X1 @ 8 ® 9

® 5

<
<
o~
oF |l
_._._._ =
o B
[y}
T
TN
o Ak
=/
W




D e ea
® a+a+a+a=4a

@ aXaXaXa:a4




©)
&8
= at
a2

®
(a® x
a8)? =
— 416

@
&
= at
A




@ 9b ® 12b @ 24b ®)27b
3)3 L 27

et = — =2

A bxb3 b




8. 24’ =+ (2ab)® S tHS| T Ao R F& A7

1 1 1
Q 4_a1 @ @ ® 4a2b
4ab? © 4a2b?

1
2a’b® + (2ab)? = 24°b3 + 8a>h> = o
a




9.

18ab? + 3a%b + 4a>b® x 2a°b?

> E

> HE . 3ab

[e)

=

s

18ab? x 2a°b3

3a2b x 4a3b3

= 3ab




10.

A7)50] WA Ut 29| Zo|7} 2x2 0|1 Hul7} 127x° A
59 Lol5 5o},

vV V¥
0
L
w
=

9 %;]-7]

B
x (&°])olB=

(d71°s<] F) = (2] Hol)
£0|2 het 5hd 127x° = 1 (242)% x h

127x°
T h= =
4mxt 3%




4

24

7t 7P 2F2 gt Ao AAed W, a + b 9] G227

@9 @ 10 311 @ 12 ® 13
L = %l getadeolaiw o = 3 9] wjolojok 5l 71
24 23x3
&Eﬂﬂﬂﬂﬂﬂéﬂﬂi3ﬂqmi=—i—=l=1

== 24 2x3 28 8

o|B& p =38 ot}
w2t a+b=3+8 =11 o[t}




@ 0.1232323---, 123
® 2.573573---, 57
@10.462462--- , 462

~&B

@ 1.351351---, 135

@ 3.461461---, 4614

@ 23

@ 351
® 573
@ 461
® 462




13.

O& T «gdago 2ol g2 4

@ 0.345345--- = 0.345

© 21.1515--- = 21.15

© 3.14151415--- = 3.14151
@ 0.1232323--- = 0.123

® 8.2359359--- = 8.2359

iy

o

0x
iy
®

v VvV vV v v Y
0
iy
Q

02
L
@

© 21.1515--- = 21.i5
© 3.14151415--- = 3.1415
ot 22 A2 9, @, @°|th.




14.

of 447 ofel 70 WAl Apel o) S:A1E atele,

o

= 0.285714 0|2 2 £=3utt] o] =2} 6 7

70 = 6 x 11 + 40|22 AZA ot 70 A AelQ] SAt= 7
=g




15. x=1.222--- A o], 10x - x o] Z-&?

® 1.1 @ 1.2 @11 @ 12

® 12.22

10 & F5HH 10x = 12.222---
x=1222... o|B&
10x — x = 11 0]t}




ES= - P S
T= T

S8 e

Aol o

234 -4

234 =
@ 0.23 9000

A

29

..o 1234 -12
1234 = ——
@ 990

72
99

. 234-23
0234 = ——
e 900

205 - 20
90

D0.72=—

3 2.05 =

1.234 =
© 1.23 990
456

456 =
® 0.456 = T

1234 - 12




@ 5.274 ® 5.274 @5.274
@ 5.274 ® 5.2740

@ 5.274 = 5.274274 - - -

@ 5.274 = 527444 - - -

® 5.274 = 5.27474 - - -

@ 5.274

® 5.2740 = 5.274040 - - -

OJEZ B> @ > D >® > @[t




18. 054+ 068 A4tsto] 7|okRs2 ey
Tatolat,

A, atbol G

QI@‘

Ch
H =

oHd =

>
|> Hek o9




19. o= H27]9 A & &2 A& 27 &t

H7]
@ a’?xa?xa®=a'?
© 2 x 28 xy3 = yiz3
© a® xb?xa®xb?=ap*
@ xxx>xy?xy>xz% =xyP
> E:
| =
> HE. O
> HE @

B

Da?xa’xa®=a*t?3 =4"
© 2 x 3 X y® = yo73
@ a3 X b2 % a2 Xb2 — a3+2b2+2 — adpt

@ xx 13 xy2 x5 x 75 = x1H3y2H45,5 — x4 75




20.

X9 xy0 x xx y* = x10 x y10




21.

©
wlen
®
Wit
©
|
w | Tt

S BHESIE 9] 2 FohH?

@ -2

® -1

1+t so7= 1
8 TWT2 —5
34 33x+2x_:i

2

(I8}

opae] 373 Fot

34 33x+2:3
44+3x+2=1
) 5
X ===

3




X 4 xb -
L) =2 @ hass o e Fepolzy

> =g 16

3\ 4 12 b
(£) L LE VPR
y y

wakA g =4 0|3 p = 12 ot}
La+b=4+12=16




23. 3% 4 3% 4 3¥S 7+s| YERHE?

©3x+1 @ 33x @ 27x @ 3x+2 @ 3x+3

3x 3% = 3!




24.

4] 0.09x - 0.03x = 0.5 2] 35 F5HH?

® 15 (@)1?5 3 5 @Z

~&B

(0.09 - 0.03) x = 0.5

(93_ )x—05

6 1
90" " 2
Ll 90 15
T T2




3
25. <é) =32 =9"x3 S WET o, x+y o] FH& otk

=
=

>
>3

]
o

~&B

1\3
(5) =342 =09 x 3

(382)% =342 = (B x ¥
3-6 — 3x+2 — 32x+y

x+2=-6

Sox=-8
2x+y=-16+y=-6
Soy=10

L x+y=-8+10=2




